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Monday, October 18, 2010

--- On commencing at 9:11 a.m.

MS. DJURDJEVIC:  Good morning, ladies and gentlemen, and welcome to the technical conference in Board file number EB-2010-0228, which is an application by Hydro One Networks Inc. for approval of miscellaneous charges related to distributed generation -- distribution generation.

This technical conference is convened pursuant to the Board's Procedural Order No. 2, issued on September 22nd.  My name is Ljuba Djurdjevic.  I am Board counsel, and with me today on behalf of Board Staff is Christie Clark.

Can we have appearances for the other parties?  And we start.  There.
Appearances:


MR. MATTHEWS:  Dave Matthews for APPrO.

MR. HARPER:  Bill Harper for the Vulnerable Energy Consumers Coalition.

MR. MacINTOSH:  David MacIntosh for Energy Probe.

MR. ENGELBERG:  Michael Engelberg for the applicant, Hydro One Networks Inc.
Preliminary Matters:


MS. DJURDJEVIC:  All right.  Now, prior -- do we have all appearances?  Okay.  Prior to today's technical conference, several of the intervenors and Board Staff submitted clarification questions in writing.  All of those were received on or about October 8th.  And we have on the record written clarification questions from Board Staff, VECC, APPrO, and Energy Probe.  Am I missing anybody's?

Okay.  So as I understand, Hydro One is not doing any direct -- or any kind of introduction, but Mr. Engelberg does wish to present his witnesses.
HYDRO ONE NETWORKS INC. - PANEL 1


Ayesha Sabouba


John Boldt


Steve Vance


Carolyn Russell

MR. ENGELBERG:  Yes, and I do have a few opening remarks.  The witnesses that will be here today are, starting from the front of the room, Ayesha Sabouba, John Boldt, Steve Vance and, to my left, Carolyn Russell, who may be answering a few of the questions.

As we see the organization of this technical conference, there are two matters to be dealt with here today.  The first one is the matter of fees for connection impact assessments, and those questions will be answered by Ms. Sabouba.  And what we're asking, so that we don't go back and forth between different topics, is that the matter of the CIA fees be dealt with first and that those questions be asked of Ms. Sabouba.  We anticipate that, based on the questions to date, that matter will be dealt with fairly quickly.

The second matter that we're here for today regards the joint-use fees, and Mr. Boldt and Mr. Vance are here to answer those questions after the CIA fees have been dealt with.  And Ms. Russell is a member of our regulatory affairs department, and she may be answering or helping with questions from time to time.  Thank you.

MS. DJURDJEVIC:  Thank you, Mr. Engelberg.  I was going to suggest that we just start with one of the intervenors with their clarification questions and Board Staff will go at the end and pick up anything that's left over.

Does anybody have any other suggestions or proposed procedure for this technical conference?  No?  All right.  Who'd like --


MS. DJURDJEVIC:  Certainly.  Certainly.  All right.  As Mr. Engelberg indicated, just, it would be more efficient to deal with questions with respect to CIA first, so we could start with anybody that has questions on that topic who would like to go first.
Questions by Mr. Harper:


MR. HARPER:  Actually, I just had one question, so why don't I start off.  I think on the questions that I'd pre-circulated, I believe it was question number 4 was the only one I had that was dealing with the fees.  If I'm incorrect, maybe you can tell me.

And it really had to do with your interrogatory response to OEB Staff No. 88(a).  And here you were making reference to the fact that, as part of the last distribution filing -- that was EB-2009-0096 -- you had done a detailed cost analysis for these studies, and that was effectively the basis for the fees.

And I did go back and try and do a brief review of the evidence there, and it was probably me, but I was unable to find anything specifically, so I was wondering if you could just give us either, A), a direct reference to where on that evidence record these detailed cost-based studies are filed or, if you can't give us a reference, if you just provide us copies of them.

MS. SABOUBA:  Certainly.  The results...

Thank you.  Certainly.  The results -- the detailed results of the studies were shown in our filing for distribution rates, Exhibit G2, tab 93, schedule 1, on page 9, in EB-2009-0096.  And in there we put the details of the costs for the small and medium connection impact assessments in one table, and below that the details of the costs for the large connection impact assessment in another table.

So we showed all the different labour groups who were involved, how much time they spent, their rates, and the eventual cost of each study.  So for a small and a medium connection impact assessment we found the cost to be the same for both, $10,335 per study, and for a large connection impact assessment we found the cost was $10,405 per study.

MR. HARPER:  Okay.  Thank you.

And I can look it up, and maybe you could just remind me, what's the proposal you have right now, in terms of, I guess -- we have the phase-in, but what the endpoint would be for the cost you would be charging customers for each of these categories?

MS. SABOUBA:  For these particular categories, the small, the medium, and the large, the proposal was just the interim rates.

MR. HARPER:  Okay.  And those were?

MS. SABOUBA:  For small and medium, 10,000 -- oh, sorry.  For the small and -- for the mid-size projects, $5,000, and that was up to August 31st of 2010.  And for the large projects, $6,000 per study.  And again, that was up to August 31st, 2010.

MR. HARPER:  And then after August 31st, 2010 there was a rate that would be going into effect, which was the one that was approved in the last hearing?

MS. SABOUBA:  I'm sorry, I didn't hear that.

MR. HARPER:  I was going to say, after August 1st -- August 31st, 2010, which -- I'm sorry, now that we're there -- okay.  I'm sorry.  The rate that's now applicable to these projects is what then?  I just thought if I got it all in the place, on one record, in one place, it would be useful to us all.

So the rates that are now applicable after August 31st, 2010 for these projects are what?

MS. SABOUBA:  Would be the rates that we filed in our distribution rate filing.  So for mid-size it would be $10,335 for a brand-new study, and for large connection impact assessments, $10,405 per study.  And again, that's for a brand-new study.

MR. HARPER:  Okay.  Fine.  Thank you very much.  Those are all my questions on this topic.

MS. DJURDJEVIC:  Anybody else have questions with respect to the CIA?

All right.  Then we'll move to Board Staff's questions on that topic.
Questions by Mr. Clark:

MR. CLARK:  I just have a follow-up question on Exhibit G2, tab 93, schedule 1.  The hours and the units, are these based on a sample?  Are they estimates?  Are they an average?  I just want to get a feel for these numbers.

MS. SABOUBA:  So what we did...

So what we did was, we examined the completion of these studies over a period of time, when we had a number of these studies going on.  And we asked the staff to record their time and to identify what type of study they were working on.  And we determined the prices from that.

MR. CLARK:  And was that a select sample, or was that for all of the ones up to date?

MS. SABOUBA:  Sorry, no, it's not for all of the CIAs that were done up until we filed this exhibit.  It was for a period of several weeks; I think close to two months, one to two months, when we had a number of studies going on, like, a number of new studies going on.

So it doesn't include every connection impact assessment that we had ever done before that, like, from 2006 or 2005.  It doesn't include those.

The study was done early 2009, when we had a lot of studies to do, a lot of new studies to do.

MR. CLARK:  So are you telling me that you -- for a two-month period, you took the number of hours and divided by the number of projects?  Or are you saying you looked at it on a project basis?  In other words, is this a time series on a project, or is this a cross-sectional analysis of all projects?

MS. SABOUBA:  Okay.  Now I understand.  It's a cross - it's analysis across a section of time for all the projects that were underway at the time.

MR. CLARK:  Okay.  One more question.  You have estimated reductions in these times.  How did you arrive at those estimates, and what components were reduced?  Or was it just a bottom-line assessment that said these projects now -- sorry, I'm not talking about the transition, I'm talking about going into net metering and capacity-exempt.  I believe you said there's a -- I apologize.  I should have got my notes out.

The question is related to the rescinded and the reapplied projects.  You say there is a reduced effort and therefore you can reduce these CIAs for those.  So did you just bottom-line a reduction, or did you go in and look at those components and say:  For direct labour, MP2, it's really not 34.9 hours, and we estimate more like 25 hours.

What was your approach?

MS. SABOUBA:  So the reasoning behind having the rescinded applications charged a 50 percent fee of a new connection impact assessment was the fact that revisions to connection impact assessments typically take half the time.  And when a project rescinds and then reapplies for exactly the same project, it's effectively a revision to a CIA.

All that we're really doing is looking at what updates may have come on the distribution system during the time they had their first CIA.  Maybe they've made small changes to their project, but typically not.  And we simply considered it a revised CIA.  And that was the reasoning for rescinded projects being charged 50 percent.  And I think we've said here that a revision, all revised CIAs should be charged half the cost of a new CIA.

And it's related to the amount of effort that goes into that study.

MR. CLARK:  Yes, I understand the reasons for it and it makes a lot of sense.  However, it's just the 50 percent number I'm looking at.

Was that a management assessment?  Was there a sample taken?  Was it sort of like a Delphi conclusion, that it brought the experts into the room and you decided it was going to be 50 percent?  How was the 50 percent decided?

MS. SABOUBA:  I would say it's a management decision based on the feedback from the staff who are doing these CIAs.  And it's actually -- it's a decision made over time.  Like, over since probably about 2006, Hydro One has found that revised CIAs, the staff feel it takes half the effort compared to doing a brand new study.

MR. CLARK:  Okay.  Thank you.

MS. DJURDJEVIC:  I think we've given everybody an opportunity to ask their questions with respect to the Connection Impact Assessment.

So we'll move on to the topic of joint-use charges.

MR. ENGELBERG:  Ms. Djurdjevic, I'm going to ask, perhaps if it would be appropriate for Ms. Sabouba to come to the body of the hearing room.

MS. DJURDJEVIC:  Right.  Out of the hot seat.

[Laughter.]

MR. ENGELBERG:  I didn't want to say that.

[Laughter.]

MS. DJURDJEVIC:  Okay.  Who would like to go, lead the charge now?  Mr. Matthews?

MR. MATTHEWS:  I just wondered if it might be efficient to address some of the common questions at one time, rather than going through each party's list of questions.  And I think one of the common themes was the calculation of the joint-use fees and the connection to the previous telecom rate and the LDC rate that was approved.

MS. DJURDJEVIC:  Okay.

MR. MATTHEWS:  I think that might be helpful if we could have that response now.

MS. DJURDJEVIC:  All right.  Well, why don't we then start?  Mr. Matthews can lead the questions and discussion about the calculation of the joint-use charges, and then when we've exhausted that, we can move on to another topic.

MR. MATTHEWS:  And our reference to that was our first question.

MR. BOLDT:  Okay.  I guess, Alex, can you hand out the tables?

MR. JACKSON:  Which tables?

MR. BOLDT:  The actual sheet with the two green columns.

MR. JACKSON:  Sorry, just trying to find it right here.  I do not seem to have that with me right now.

MR. BOLDT:  Okay.  Yeah, just give me a second and I'll try to put it up on the screen, then.

Okay.  Our approach in this calculation, the first approach that we had was taking a look at, on a 50-foot pole -- which is a common size pole.  I have a picture of a pole, as well, on the 50-foot pole, if that would help to explain it.  And maybe if you will allow me, what I'll do is I'll go there right now.

Typically, on a 50-foot pole, I have at the top, which is the top 10 feet of this 50-foot pole, it's called the generator space.  This can also be another LDC, but it's basically power space, typically for generation and the type of generation that this is common with, or transformer connection generation, or TX connected, we call them.

What they're doing is they need to attach their conductors to Hydro One poles, and they call them collector lines.  And they travel over, in some cases, hundreds of spans to go back to their point of connection.

They have alternatives.  They can build on private property.  They could build their own standalone line on municipal lands.  But the backbone of joint use and where we started with this 50-foot pole is if they have one circuit, it's an express feed.  Typically, they're called collector lines, and they typically would be in that top location.

Below that, Hydro One Networks' space is another 10 feet of pole.  There is separation space, and that is between the power conductors and the telecommunication conductors, or call it communication space.  And if I scroll down just a little bit, you can see that you've got clearance space above the ground, and a 50-foot pole is installed seven feet in the ground, which comes typically to allowing joint use with one circuit.

Okay.  Now, what we did do was, and what we have done with LDCs is we have a rate.  It was negotiated by the EDA, and we charge each other the same rate.  It's at 28.61, all the LDCs.  We have 77 of them that are -- we have agreements.  They were a five-year term, and they're up at the end of this year.  And they're reciprocal, by the way.

So -- and back to our spreadsheet, our approach was that if 28.61 equalled 10 feet, and both companies that were on there in that power space contributed that, basically the rate that we would start at for a 50-foot pole would be 57.22.

Now, in this telecom attacher here, what was taken was, on the pole, on a 50-foot pole, the 100 percent of it, we did take 21.9 percent from the telecom, that is, like, two attachers on the structure, being street lights and/or telecom.  And we took that times two and subtracted it from the 100, and then we divided that in half, because there are two power companies or two people in the power space on a 50-foot pole.

So really, what it comes down to is the 57.22, it's the value of the shared space in the power space only, is how we came up with it.

Now, from there, typically what was done was, we -- there may have been some confusion at the beginning where it went to, it was 56.2 percent.  And I took the blue column A, plus the blue column B, and it always equalled 56 percent.

And looking at this now, it probably could have been presented a little bit better, in the sense that we were using this as our base rate, and we were going to -- we were establishing a rate that would increase in 5-foot increments, based on the generators' space used on the pole over top of the generator, plus the Hydro One space at 10 feet.  And then all we did was we multiply that times our base rate at 57.22.

So in saying that, if you were to take the example of the 50-foot pole, the generator space is 10 feet and the Hydro One space is 10 feet.  So you get a generator factor of 50 percent.  And then what you do is you would multiply this 50 percent times 57.22, which equals 28.61.

The value of them with 15 feet of power space, so it's their power space, over the total power space, which is 15 over 25, which is 60 percent, and then it's 60 percent times the 57.22.

So using that theory of their space over their space plus Hydro's space is how we developed the model to be used to increase the rates.

MS. DJURDJEVIC:  Sorry to interrupt, but just to make the document an exhibit, which also makes me realize we didn't make the document we were discussing earlier an exhibit.  So we should have as KT1 the excerpt from EB-2009-0096.
EXHIBIT NO. KT1:  Interrogatory response filed during EB-2009-0096.

MS. DJURDJEVIC:  And then this document will be KT2, the 2010 calculation of pole costs.
EXHIBIT NO. KT2:  2010 CALCULATION OF POLE COSTS.

MS. DJURDJEVIC:  Okay.  Sorry, continue, please.

MR. MATTHEWS:  I have a few follow-up, if -- unless Bill, you want to go ahead, or...

MR. HARPER:  Why don't you -- we both may have to try coming at it from slightly different angles, but why don't you go first, David.
Questions by Mr. Matthews:

MR. MATTHEWS:  Because I think what the witness has done is explain the evidence that was filed initially.  And he's done a very good job at that.  But I still don't think it answered the questions that Board Staff asked in its interrogatory and the ones that APPrO re-asked about, how does this calculation connect to the telecom approval rates.  And specifically the question was, could you confirm whether or not the same methodology was used as was used in the telecom hearing.

MR. BOLDT:  Okay.  If I can just bring your attention to the dark -- or the screen on your right-hand side.  It's a little bit different, in the bright green.  This was using our costs today, and what we ended up with is we're using the formula that was laid out in the telecom, in the sense that the net embedded cost of Hydro One's poles, which is the net book value of our asset, divided by the quantity of the poles, and then times 85 percent.  85 percent in -- we use the U.S. of A. accounting, and the -- by taking 85 percent of it, it removes the insulators and hardware, and because all our poles are pooled in one account.

So as of today, using that value, we get a value of 663.55.  The depreciation, again, it's going to be the net embedded costs times 1.83, which gives us a value of 12.14.  The capital carrying cost is going to be the net embedded cost times the 9.05 percent, which is Hydro One's before-tax weighted average cost of capital.

And now, the maintenance lines and forestry.  With the rate that we negotiated at 28.61, and determining what the value is or how close we are to that rate -- that is, a rate that was negotiated from '05 -- we take -- we took what I had available with our '07 lines and forestry costs, and what I did was I took those capital costs and divided by the number of poles to determine that, the rate, at $20.92.  And then you get your indirect costs at 93.11.

The next column, which is the percentage, what we end up doing is taking the 93.11 times our allocation factor, which worked out to 28.1 percent.  And that comes up to the 26.17.  And down under the indirect costs, the loss of productivity, we started at $1.23 for loss of productivity, which was in the telecom hearing, in the chart, and we compounded it at 3 percent a year for five years, to come up with $1.43.  And we did the same with the administration, from 69 to 80 cents.

MR. MATTHEWS:  That's $1.41, is it?

MR. BOLDT:  Yeah, I'm sorry, this was -- when I did this $1.41, it actually -- we didn't compound.  I took 15 percent of the $1.23, so this actual chart is three pennies less, okay?  So it should be $1.43 and 80 cents for administration, which came to $28.40.

And when we did -- what ended up -- what we wanted to do was treat everyone fairly.  And because it came to 28.40, 28.38, we ended up taking the 28.61 that was negotiated with the EDA as, it was a negotiated rate and everyone's being charged that today for a 10-foot pole, 10 feet of power space.

MR. MATTHEWS:  Maybe I could just ask you a few questions about that, now that you mention treating everyone fairly.  Is there an escalator for inflation in those LDC rates, the EDA rates?

MR. BOLDT:  Yes, there is.

MR. MATTHEWS:  And how do you apply that?

MR. BOLDT:  There's a formula that we use with CPI.

MR. MATTHEWS:  No.  When an LDC applies for an attachment, do they start at the base rate or do they start at the inflated rate?

MR. BOLDT:  It depends on the year.  So what happens is, in year 1, if it's 28.61 and then it gets inflated in year 2, the new attacher, the new thing, would be charged that new rate.

MR. MATTHEWS:  The higher rate.

MR. BOLDT:  The higher rate.

MR. MATTHEWS:  And did the Board approve those inflation factors?

MR. MATTHEWS:  My question was:  Did the Board approve the higher inflation rates?

MR. BOLDT:  I was never involved in those hearings, but we negotiated the agreement with them, and there is an escalation clause in there.  And what happened was it did get approved as a miscellaneous rate, and we have never escalated it, like, to come back to the Board for that.

MR. MATTHEWS:  So what I'm hearing is that the Board approved the flat rate only?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Correct?  The rates for the LDCs, do they have a heighth restriction as well?

MR. BOLDT:  No.  All the poles are built to an engineering standard under Regulation 22/04.  So what we do, and it's every pole, every pole line, depending on the number of circuits, the framing style, their weights and tensions, and/or the spacing they need based on voltage.

MR. MATTHEWS:  Right.  But this gets back to what you build as a standard pole.  Is your standard pole a 40-foot pole or is it a 50-foot pole?

MR. BOLDT:  With an LDC, it's a 50-foot pole.

MR. MATTHEWS:  So wherever you're going through an area where there's an LDC in the vicinity, you build a 50-foot pole?

MR. BOLDT:  No, if we are, like, at what we call a boundary road, typically, if there's a pole line that goes down that road, and in the old days, like -– I don't want to call it the old days, but we used to have long-term load transfers.  And that pole line would be 40 to 45 feet, depending on the framing configuration and/or the terrain.

So typically, what would happen is our common pole, like, if we were building a pole line by ourselves, would be a 40- to a 45-foot pole.

When an LDC approaches us, in most of our locations it's one circuit, like, the majority would be one circuit, just to pick up their feed, where we would be taking a feed maybe through the LDC to where we would need it outside.

MR. MATTHEWS:  So in the case where there's space allocated for an LDC, is that reserved for them?

MR. BOLDT:  No, the -- we don't build and we don't reserve for 50 feet.  What happens is when, today when our people go to build a pole line or replace a pole line, they would contact our distribution planning to see if there is any need for a bigger pole.  And there is the possibility that when we are doing pole replacement or doing something like that, we would build in extra space.

Typically, it's pole for pole.  We don't build 40 -- or a 50-foot pole line just because we think an LDC is going to come on there, or a generator, even.

MR. MATTHEWS:  So I realize I'm getting down the path of many of my other questions, and I'll just ask one more.

MR. BOLDT:  Mm-hmm.

MR. MATTHEWS:  When you go and your planning people determine whether or not they should build in this additional heighth in the pole for joint use, do they do the same for generators?  In other words, in an area where you expect to have generators sharing your poles, do you go and talk to them about building an extra pole at that time, an extra pole heighth at that time?

MR. BOLDT:  No.  Right now, what's happening is, like, from my experience, I've been dealing with this exclusively almost myself for five years now.  And a lot of the generators, where they're coming, the large ones that establish joint use, they're in rural Ontario.  And there's a lot of old, existing hydro lines in that area.

Now, if we -- we know of the projects that are coming in, out two to three years now, because we've got a -- we've established a process.  And we are contacting these guys, but no, we're not planning for that.

MR. MATTHEWS:  Okay.  Back to the start of this, where you put the diagram up for the pole heighth, the power space is the 20 feet at the top of that pole?

MR. BOLDT:  Right.

MR. MATTHEWS:  And when you refer to power space, that's just for your distribution lines or transmission lines, electrical circuits?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Yes.  And then the space below that is for telecom?

MR. BOLDT:  Correct.

MR. MATTHEWS:  And you have a 3.3-foot space difference between, space separation difference, and then you have two feet below that?

MR. BOLDT:  Mm-hmm.

MR. MATTHEWS:  Are there two telecom lines on that pole?

MR. BOLDT:  Typically, in a telecom -- or in that two feet of space, we have what's called the top, the middle and the bottom, and that allows them to string three, what they call, a strand.  And from there, they can lash their conductors to it.

So you can have multiple telecom companies or people on there.

MR. MATTHEWS:  Okay.  And so that's the basis for your justification on the increments for pole heights; is that - you just take that allocation that you came up with based on the negotiated price with the LDCs, and then allocated that on a percentage basis based on the proportional space of that power space?

MR. BOLDT:  Correct.  Their space over their space, plus 10 feet of hydro space.

MR. MATTHEWS:  I think that's all the questions I have on that, Bill.  Do you want to ask any?

MR. HARPER:  Yes, I guess there are two areas in my mind.

One is sort of the relationship with the CRTC -- excuse me, the cable decision that was made a number of years ago by the Board, and how you took that and translated it over to come up with your basic numbers.  And then there's a matter of translating those basic numbers into the formula.

And dealing with the first step, I must admit I too had a bit of trouble reading through the Board's decision and trying to interpret and work through the math.  I wanted to see how your numbers compared with theirs.  And as I understand it, they use a 40-foot pole as their basic starting point.

I'll see how I understand it, and then you tell me if I'm right or wrong.  That was predicated on the fact that there would just be one utility on the pole, i.e., the utility that owned the pole, plus some communication providers.  Whereas with the 50-foot pole, you're assuming there's either two utilities, or a utility and a generator on the pole, plus those same communication –- plus a number of communication providers, and that's why you get the extra height of 10 feet of height on the pole, going from 40 to 50; is that correct?

MR. BOLDT:  Yes, if I understand it correctly, you're just -- we -- the telecom space, we use the same methodology.  In their hearing, there was a 40-foot pole.  And they chose the 40.  They looked at all different poles, but that was the one on the 40, with multiple users on the pole.  With one power company, though.

MR. HARPER:  Right.  Now, what I was trying to understand, and this gets to a couple of specific questions I had.  When I went through that Decision, their 29.1 percent per telecom attacher, if I want to call it that, seemed to be predicated on the fact that there were going to be, on average, two and a half attachments to each pole.  And you've used just two attachments here.

And I was wondering why -- you know, so that actually -- you use two attachments to multiply 29.1 by two.  If you had followed through their assumptions, saying:  No, it's two and a half attachments, it seems to me you would have put 29.1 percent times two and a half, which would have led you to a different answer.

So I was wondering why you assumed two attachments as opposed to two and a half, and why it's appropriate to continue to use the same percentage if you're changing the number of attachments assumed on the pole.

MR. BOLDT:  Yeah.  The number, I believe, is 21.9.

MR. HARPER:  Okay.  I'm sorry, yes.

MR. BOLDT:  21.9 percent.

MR. HARPER:  Yes, right.  You're correct.  I apologize.

MR. BOLDT:  And that percentage, in that hearing, was a value, it's my understanding, from the Board.  It was a range of what it is in all aspects of poles.  Because they looked at, I believe, the total numbers of poles based in that hearing, that Hydro One has, the average lengths, you know, what do we have the majority of, versus, you know, those urban centres with potentially bigger poles.

The reason we took the two was that there's, like, street lights, traffic lights, and what we did was we said:  Those things are on our poles as well.

So that's where we took the 21.9 percent, not just in the telecom, but something equally that's on the potential to be on poles.  And that's how we came up with that percentage.

MR. HARPER:  But I guess what I'm struggling with is if you're trying to mirror and follow through on the Board's earlier decision on sort of pole attachments for telecom providers, they were specifically using two and a half as an assumption, and it seems to me that two and half connections was part of what they took into the formula when they derived the 21.9 percent.

So what I'm struggling with is the 21.9 percent still appropriate if you change the assumption on the number of attachments?  And if so, why?

MR. BOLDT:  The Board's thing was a guideline to us, and with this approach, our approach was we wanted to establish what that value was of the power space.  And that was what we did, was we took the 21.9 times 2, and then take that from the 100 percent to calculate what the percentage left was, to start with a rate at a starting point on a 50-foot pole.

MR. HARPER:  Okay.  I'm not sure if -- I'm not sure if I'm communicating my question properly, because what -- maybe try it one more time.

Why did you think it was appropriate to use 21.9 percent when that was associated in the Board's report with two-and-a-half attachments, not two?

MR. BOLDT:  It's my understanding that the two-and-a-half attachers was, you know, on the telecom, in that telecom space.

MR. HARPER:  Right.  But the two-and-a-half attachers was used in part to drive a formula which said, each attacher, we're going assign them a cost equal to 21.9 percent of the cost of the pole.

So, you know, if the Board's assumption had been correct and there were two-and-a-half attachers on the pole, that would have been -- telecom providers in total would have been assigned 21.9 percent times two-and-a-half.  That would have been the average rates costs being collected from telecom attachers based on the Board's report.

And actually, because this is just one example of, it seems to me -- there was a bit of an apples and oranges, in terms of the assumptions.  You were assuming, and then taking the Board's assumptions, which were based on a different configuration, and applying them to yours.  And this will be the last time I'll ask this, but I was trying to figure out why -- again, why it was appropriate to use the 21.9 percent when you're changing the assumption about the number of attachments.  And I'll just leave it at that.  It's a question I don't understand.

MR. BOLDT:  Can you just give me a sec?

MR. HARPER:  Sure.

[Witness panel confers]


MR. BOLDT:  Yeah, we -- I'll just reiterate.  What we did was we took the 21.9 percent.  It was our understanding that that was going to be for the telecom portion.  And with someone else on the pole, street lights, traffic lights, whatever it may be, that's -- we doubled it.


MR. HARPER:  Okay.

MR. BOLDT:  At the beginning.

MR. HARPER:  I'll leave it at that.

The other issue, which is very similar, and I don't know if it's a similar sort of issue, is that the 21.9 percent was predicated, like I said, we talked about earlier on, a 40-foot pole, and whether or not, if you were using a -- if the Board had used a 50-foot pole as their assumption, whether they would have come up with the same 21.9 percent or not as a factor for one telecom attachment, and therefore whether or not the use of the 21.9 percent in conjunction with your 50-foot pole assumption is appropriate, and I'd like you to comment on that if you could.

MR. BOLDT:  With the 21.9 percent, it was -- it's my understanding that they looked at a vast number of all the poles, and that was a decision made, so that the rate that gets paid, that 22.35, which is the regulated rate, that's paid regardless of what size of pole they're on.

MR. HARPER:  Okay.  Fine.  Thanks.

MR. BOLDT:  Okay.

MR. HARPER:  David -- no, actually, I had some more questions.  I was just on the sort of the use of the Board's report.  I was curious if you had anything else you wanted to follow up on further this morning.

MR. MATTHEWS:  I did, if that's okay, Bill.

MR. HARPER:  No, go ahead.

MR. MATTHEWS:  Just supplemental questions to what you asked.

Just to clarify, what you showed in the dark-green column to the right on Exhibit KT2, that presumes that you're using the telecom methodology with your new inputs; is that correct?

MR. BOLDT:  Yes.

MR. MATTHEWS:  And that comes up to a rate that you adjusted to 28.40.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And then, based on parity with others, you said, 'We want to use 228.61 (sic).'  So to me that says that you're -- subject to Bill's questions of clarification on the percentage, you're using the same methodology as the telecom methodology, with new inputs.

MR. BOLDT:  Correct.  The same approach, yes.

MR. MATTHEWS:  And one of those inputs would be the 28.61.  And that comes from the negotiated rate with the EDA.  So that's not a cost-based rate then, it's a negotiated rate.

MR. BOLDT:  (Nodding)

MR. MATTHEWS:  Correct.  Okay.  But what you're saying here is that if we were to use a cost-based rate, that would be 28.40.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  And another follow-up question to what you responded to Mr. Harper was that 22.35 was paid regardless of the number of attachments, telecom attachments or street-light attachments, and regardless of the space, the heighth of the pole.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Is that correct?

MR. BOLDT:  Not street lights.  It's for telecom only.  So each attacher pays $22.35.

MR. MATTHEWS:  Regardless of the number of attachers.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And regardless of the heighth to the pole.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  Now, the other rates that we see that are being proposed for generators for the higher poles, they're based on -- and you explained quite clearly -- an extrapolation of the 57.22, based on the new allocation and the percentages we see in the generation factor column.

Those -- why wouldn't you use the same sort of approach?  In other words, I don't think you used the methodology from the telecom -- and correct me if I am wrong -- from the telecom hearing to calculate those higher rates.  You started from the base rate, the 28.61 --


MR. BOLDT:  Right.

MR. MATTHEWS:  -- and escalated that up, extrapolated that up.

MR. BOLDT:  Correct.

MR. MATTHEWS:  So those rates are really not based on the methodology.

MR. BOLDT:  No --


MR. MATTHEWS:  I mean, if you were to use the methodology, you would plug in the net embedded cost of the higher poles into that formula in the green column to the right.

MR. BOLDT:  Correct.  One of the -- when we looked at this, there was the 28.61 is basic -- which we've already stated.  It's two times to come up with the 57.22.  We have all our poles pooled in one account.  We don't have the ability to see what the net embedded costs of an 85-foot pole versus a 90- or a 70-foot is.

MR. MATTHEWS:  Correct.  Okay.  So on that basis, you use your best guess of what --


MR. BOLDT:  The average, yes.  Because they are pooled in, it's one account.

MR. MATTHEWS:  That's everything I have right now.

MR. HARPER:  Moving on to the second half, which is -- I guess was -- you were just talking about was -- was sort of the actual development of the actual methodology used in coming up with a rate.  What I was particularly curious about was, you know, we talked about a 50-foot pole which would have one, say, one generator or one other utility on it.  And then if you had to build a pole that was higher than 50 feet, that would -- I presume because you either -- one of the reasons you talk about here is because maybe two generators wanted to go on the pole, in which case you would need a 60-foot pole instead of a 50-foot pole.  Or like I say, if another utility wanted to go on the pole and you had two utilities and one generator, you would need a 60-foot pole instead of 50-foot pole.  And that each of those -- you're going to probably have to say "yes" in order for the...

MR. BOLDT:  Oh, sorry.  Yes.

MR. HARPER:  I'm sorry, I was equally as guilty as not giving you a chance to do so, and I apologize for that.

And I guess what I was struggling with was the fact that the 10-foot space that Hydro One is using -- or the utility is using, that you're attaching a value of 28.61 to as your basis thing.

In looking at your formula, if you ascribe 60 feet of space, if you build a 60-foot pole, let's say, because there's two -- because the generator needs twice as much space, they need 20 feet to your 10 feet, and that's why you would build the 60-foot pole, if I understand the model you're putting in here, right?

MR. BOLDT:  Yes.  If it's one generator that needs 20 feet of space, it would be their 20 feet divided by 30, which is their space, divided by the total space of their space plus our space.

MR. HARPER:  Right.

MR. BOLDT:  And if there's two of them, if there's an LDC or a generator, the rate is the space that they have divided by Hydro One space.

So if one generator comes along and he takes or they take 10 feet, then they would pay 28.61.  If the second generator comes along and they require 10 feet on top of that, so combined, there will be three of us -- it would be 28.61.

MR. HARPER:  So just to be clear, if the second generator came along and you required a 60-foot pole, they would each pay 28.61?

MR. BOLDT:  Correct.

MR. HARPER:  But if one -- so -- but the formula you're showing here showings that if I had a 60-foot pole, -- and this is KT2, the piece of paper that you just distributed -- that if I have a 60-foot pole, the generator, if I read this correctly, the total generator cost is only 38.15, not two times 28.61?

MR. BOLDT:  Correct.

MR. HARPER:  Could you help me out with that?  I just thought you said if a generator on -- actually, what I'm struggling with is the fact that if hydro space for 10 feet is worth 28.61, why a generator who requires twice the amount of space isn't paying twice as much; he's only paying 38.15, as opposed to twice as much if he's taking twice as much as space.

MR. BOLDT:  The OM&A costs on -- in this methodology, as you'll see that the value of the increase as the pole gets larger, the percentage of the rate increase gets smaller.  And the methodology is that the OM&A costs, like, the tree trimming and issues like that, once you cut the trees and it goes up, then the higher the pole, like above a certain line, the trees aren't there anymore.  Right?

So like on a 90-foot or a 100-foot pole, you don't have to trim trees any longer.  So the methodology that was used is that we set a rate at 28.61, and the proportion that it goes up, based on if one generator comes along and they need 10 feet, it's 28.61.  The -- and if there's two, they each pay $28.61.  And a comparison, if I may, towards the telecom thing, or the telecom rate, is that -- as per attacher, the rate was 22.35.  And that means that the attacher, being the telecom company, could put a strand in the top location and also put a strand in the bottom location, but still only pay that rate once.

MR. HARPER:  And I apologize for asking for the formula.  So that if there were two attachers on the 60-foot pole, it would be 28.61 a piece?

MR. BOLDT:  Yes.

MR. HARPER:  If one generator, for the want of the fact that they wanted to use a higher voltage or something or they required the full 20 feet all to themselves, they would pay per the formula --


MR. BOLDT:  Correct.

MR. HARPER:  -- that you've got here?  And save reading me the transcript and trying to transcribe the transcript into a formula.  Maybe you could just walk me slowly through what you said that formula was.  It was your...

MR. BOLDT:  It's going to be the power space from the generator, divided by the power space of the generator, plus 10 feet of Hydro One space.

MR. HARPER:  Okay.

MR. BOLDT:  Times -- times the rate.  Times the starting rate.

MR. HARPER:  Times the 28.61?

MR. BOLDT:  No, times 57.22.

MR. HARPER:  Okay.  57.22.  Okay.  Thank you.

MR. MATTHEWS:  Maybe I could ask just one follow-up, if I can.

The mention of the 22.35 for the telecom, you said that a telecom company could put two strands on that, one upper, one lower, and just pay once?

MR. BOLDT:  Correct.

MR. MATTHEWS:  So they'd only pay 22.35 for that?

MR. BOLDT:  Correct.

MR. MATTHEWS:  If a generator wanted to do the same thing, put two lines on, one up, one down, would they pay 28.61?

MR. BOLDT:  No.

MR. MATTHEWS:  And that is because they don't -- they use more space?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  Thank you.

MR. CLARK:  Are there any more questions?

MR. HARPER:  No, that's all for me, Christie.

MR. CLARK:  Okay, while we're on costs, then, I have some questions that I'd like to ask.  And a lot is for clarification, because I think you've answered my concerns up to a point.

Now, you say your mass account for poles, lines and poles -- I guess it's just poles -- you don't keep in subaccounts by height; is that correct?

MR. BOLDT:  That's correct.  It's my understanding, yes.  Correct.

MR. CLARK:  Do you know if you know the average height of those poles, because you're using the average cost?

MR. BOLDT:  No, I don't know that.

MR. CLARK:  Okay.  And picking up on the questions from VECC, that you didn't increase the rate linearly.  The fact that you're taking -- you go from 10 feet of pole -- or let's say you have a 20-foot space, brings you in your 57.21.  And you go to 25 feet, you've increased by 20 percent, 25 percent.  Now, if you go to the next size, 60 feet, again, another large increase, you didn't do that to make it linear; what you did was you came up with this method that you have developed that reflects that there's an economy of scale in size?  Am I interpreting that correct?

MR. BOLDT:  Yes.  It simply was a starting point at a 50-foot pole.  And we did not charge the same 28.61 for every 10 feet.

MR. CLARK:  That's correct.

MR. BOLDT:  We came up with a methodology that was strictly their space over the power space, the Hydro One space, to increase it.

MR. CLARK:  And why did you not go linearly and charge 28 -- 28.61 for every 10 feet?

MR. BOLDT:  The reason for that is that when you do the forestry, when you put your costs in, your OM&A costs, on a pole that's 50 feet high, you do a certain amount of forestry.  You do a certain amount of maintenance on that structure.

But for every 10 feet, that's not -- it's not doubled.  That cost is not doubled.

MR. CLARK:  All right.  Would it be the same for the invested cost in the poles?  Are the cost of poles linear, or is there an economy of scale for poles?

As an example -- I don't have the drawing -- were you intending to file that drawing as an exhibit?

MR. BOLDT:  I believe so yes.

MR. CLARK:  Okay.  If we could have that done.

MR. BOLDT:  Are you looking at the drawing, the one that I had up there?

MR. CLARK:  Yes.  You had something like 16 feet in the ground, or something like that?

MR. BOLDT:  Seven feet in the ground.

MR. CLARK:  Seven feet in the ground.

MR. BOLDT:  This is your typical 50-foot pole.

MR. CLARK:  Okay.  And given the same location, then, that would stay at seven feet in the pole for, say, a 75-foot pole?

MR. BOLDT:  No.  No, the 75-foot pole, it's – 75-foot pole?  It's 10 percent plus two feet, so 75 feet.  You take 10 percent of that, so you get seven and a half, plus two feet is nine and a half.

MR. CLARK:  Okay.  So this seven feet that you show here is based on the 50-foot pole?

MR. BOLDT:  Correct.

MR. CLARK:  So the code says seven and a half, did you say, plus 10 percent?

MR. BOLDT:  No, if it's a 75-foot pole, if you take 10 percent of 75, it is 7.5 feet, plus two feet, is how far it goes in the ground.

MR. CLARK:  Okay.  Thank you.

I have the exhibit now.  We will call this KT3.
EXHIBIT NO. KT3:  DRAWING OF POLE.

MR. CLARK:  If we can look at KT2, please, in your blue -- your green -- pardon me, I'm colour-blind -- in your green column, the second item down is the depreciation per pole, which I suspect is based on this 663.55?

MR. BOLDT:  Correct.  It's the net embedded cost, the 663.55, and 1.83 percent of that.

MR. CLARK:  And the 60.05 is based on your pre-tax return of 9.05, was it?

MR. BOLDT:  Correct.

MR. CLARK:  And your maintenance is $20.  And in total, then, the costs are 93.11?

MR. BOLDT:  Correct.

MR. CLARK:  Your methodology is not to take that 93.11 and linearly extrapolate it out, as we just discussed, but you're trying to recognize some economies of scale.  You explained to us that there would be diminishing returns in maintenance as the heights go up, because you are above tree lines and so on.

But I still go back to the embedded cost, and I'm trying to get a feel for whether there's an economy of scale or not.  And that's why we shouldn't go for linear rate increase.

MR. BOLDT:  When I talked about, like, the forestry costs, there is a decrease as you go up.  The price of the poles, as you go up, will increase.  And one of the questions that was asked is to supply what the costs were.  And it is a lot when you get into larger -- like, very high poles, long poles.

MR. CLARK:  But do they increase on a cost per foot basis, do you know?

MR. BOLDT:  No.  No, it's not per foot.

MR. CLARK:  And that's what I'm trying to get at with economies of scale.  If you're going to give us a sliding scale that diminishes as it goes up, I would be looking for something that shows me that on a cost-per-foot basis, as you go from a 40- to a 50- to a 60-foot pole, you're seeing reductions in costs.

MR. BOLDT:  For OM&A costs?

MR. CLARK:  For capital costs.

MR. BOLDT:  Capital costs?

MR. CLARK:  Would you be able to produce something like that?

MR. BOLDT:  I do not think so, because we don't have our poles broken down by size as to how much it costs to maintain them, because we just have overall line clearing costs.

MR. CLARK:  Yeah, like, as I said, I'm not looking at maintenance costs.  I'm looking at capital costs, what's the cost on the market at the time now on a cost-per-foot basis for 60 versus 40 or 70 versus 40.

MR. BOLDT:  I can tell you what those costs are.  One of the questions -- if you'll just give me a second here, I'll find it.

Okay.  One of the questions that was asked is to explain the costs of the wood from 50 to 100.  And what we did -- and this was our pricing as of last week, just for the product itself, just the wood.  There's no labour, no hole, or anything involved here.  The 50-foot pole is $617.47.  The 55-foot pole is $898.47.  The 60-foot pole is 1,522.26.  The 65-foot pole is 2,310.10.  The 70-foot pole -- these are all wood poles, by the way -- 70-foot wood pole is $4,583.87.  The 75-foot pole is 5,398.82.  And the 80-foot pole is $6,024.17.  An 85-foot pole is 6,578.78.  A 90-foot pole is $7,535.82.  A 95-foot pole is 8,853.69.  And the 100-foot pole is $9,181.41.

MR. CLARK:  Thank you.

When you get up to those heights and looking at those prices, are towers even more expensive, or are they cheaper?

MR. BOLDT:  Towers?

MR. CLARK:  Yes.

MR. BOLDT:  This is not about towers.  I don't have any experience in towers.  What I deal with is all DX wood poles.

MR. CLARK:  And that's what you intend to be renting out space on, just poles.

MR. BOLDT:  This is about poles.  Nothing to do with towers.

MR. CLARK:  Okay.  Okay.  Thank you.

I'd like to go back to the physicals to try and understand all of this.  I gather the potential for putting generators on your distribution poles is pretty much province-wide?

MR. BOLDT:  Correct.

MR. CLARK:  And we'd be look -- have you a feel for the magnitude of the number of customers that will be approaching you?

MR. BOLDT:  Yes.  We have -- one of the things that we have worked on in the last couple of years is a process at -- from the IESO, when their application is submitted, we're asking the question whether they wish to establish joint use or not.  And we have upwards of 30 to 40 right now.

And if I may, this is joint use.  This is -- if every -- what it isn't is expansions.  This isn't expansion of the system to them.  This is typically, on the transmission side of the business, where they have vast turbines, if it's wind, over numerous farms.  And their connections can be hundreds of spans away, hundreds of poles away.

So what they're doing is they're producing electrons.  They have to collect their electrons and push it back to that common point or their metering point, where they step it up.

On the transmission side, the transmission connected generators, they're the ones that have the majority of joint use in the province, because they're very wide-spread, and they're stepping it up to a voltage that is not a common voltage to Hydro One Networks.  So they're basically -- they need an express feeder from where they're producing it back to where it's going to be metered.

On the distribution side of the business, for those connections, they are allowed one metering point, one point of common coupling.  And where joint use -- and these are not as -- these are a little less than -- a lot less, actually, than the TX side of the business -- that they may have six or seven turbines spread out along a road on farms, and they may have to go 1.5 kilometres.  They may have to go 15 to 20 spans, 20 poles, to bring their electrons probably from both ends into the middle, or from one end down to where their connection point is.

So typically what would happen is, where they're connecting is the distribution voltage.  And they have collector lines at that same voltage that are running parallel on our lines until they go through their meter and then connect.

MR. CLARK:  Thank you.  All the lines up to the meter then, or up to your poles, they would be installing themselves, their collector lines would be theirs, and then they do a step-up or whatever's required, and that's when they feed into -- or that's when they transition and start using your poles.

MR. BOLDT:  No, what they do is, if I can use voltages, what they do is they produce at 600 volts primarily, 600 volts delta, at the turbine.  It comes down from the turbine.  And it goes through a step-up transformer at that location.  They're usually using a voltage which is 34,500 volts.

And then what they do is they put that voltage on the wires that are connected on top of our distribution poles.  And that voltage is then sent back to another transformer station, which usually steps it up -- well, not usually, but 115, 230, or 500, on our transmission side.

MR. CLARK:  Okay.

MR. BOLDT:  So, yes.  The answer to your question is, yes, they do install their wires, their insulators, their guys, on Hydro One poles and maintain them.

MR. CLARK:  But up to the edge of their property they would be installing their own?

MR. BOLDT:  Their own...

MR. CLARK:  Their own poles.  Their own poles to carry their own conductors to your system.

MR. BOLDT:  Yes, it --


MR. CLARK:  Wouldn't be Hydro One doing it.

MR. BOLDT:  No, it's all customer-owned.  Their wire on private property as well as on our poles.

MR. CLARK:  And when they get on to your pole, whether they need only -- and they need 10 feet, whether they put on one cable or four cables, it's all the same rate?

MR. BOLDT:  Correct.

MR. CLARK:  It's per connection, or -- yeah.

MR. BOLDT:  It's per power space --


MR. CLARK:  Per power space.  Correct.

MR. BOLDT:  Correct.

MR. CLARK:  Okay.  That sounds better to me.

Okay.  If your poles are 40-foot poles and you have to go to 50 feet, how do you determine -- would you determine a capital contribution?

MR. BOLDT:  Yes.

MR. CLARK:  Okay.  And if there are no lines at all, but you had the right-of-way, or could get the right-of-way, you would put the poles up, and again you would determine a capital contribution?

MR. BOLDT:  If there's no existing DX line, so we do not have customers, the approach right now is that they will build their own line on that municipal lands.  We would review it if they came to us.  We have had this example where the generator would like Hydro One to pole it and own it and maintain the poles.

The answer that was given was that we do not have distribution customers there, and we don't want to burden our ratepayers.  So they would build it, because we have no use for it.

Now, if we did, what we do do is we look at our distribution planners, when we know about these, our field people will ask the question:  Do we need to do something?

If we're planning something to keep our distribution system alive and healthy, and maybe they need to build some new circuitry, we may entertain it, but just for the sake of, you know:  We're going to build it, that's not what it is.

MR. CLARK:  Okay.  And all this would be in compliance with the DSC in determining contributions and so on, would it?

MR. BOLDT:  The Distribution System Code?

MR. CLARK:  Yes.  I'm sorry, yes.

MR. BOLDT:  In what effect?  I don't understand the question.

MR. CLARK:  I'm not that familiar with the code because electricity isn't my background, but I thought there was an appendix A or B to the Distribution Code for economic evaluation.  Is that not what's used to determine the capital contribution?

MR. BOLDT:  Yes, we have a discount cash flow, yes, and I'm not a financial person to explain it, but the -- it is a discount cash flow that's taking the net present value -- if we are changing poles, if there are poles existing, typically what it's doing is it's using what's in the Distribution System Code, but it's taking the net present value of the asset at end-of-life, so what's there today, and it compares it to the project costs of this particular project, to determine their capital contribution.

MR. CLARK:  Okay.  And I want to look at capacities, just for a quick minute.

Given the capacities you are looking at, is that the reason why you may need 15 feet or 20 feet of space instead of 10, because of the increased voltage they might be carrying?  Why do they want more than 10 feet?

MR. BOLDT:  I mentioned earlier that these are all built to an engineered standard to satisfy Regulation 22/04.  And depending on how they design -- how they frame, what framing format they use, whether it's flat construction or improved appearance, which is typically what was on that drawing that I showed you, what varies is the size of the wire that they put on, the length of the spans, because wires do what's called sag.  And in that, you have to maintain clearances.  So at their application stage, when they send us application, they tell us what their framing configuration is, as well as the size and the weights and the tensions of their wire.  So that varies.

If they have two circuits as opposed to one circuit --and if I may, I have another picture, if I can show it on this screen.

MR. CLARK:  Yes.

MR. BOLDT:  What we ended up, what we did was -- actually, just give me a second.  I have it here somewhere.  Sorry, thought I had it.  No, that's not it.  Give me two seconds.

This picture right here shows the typical configuration.  Now, this is a configuration of where a generator could possibly have three circuits.  One circuit is at the top of the pole, and the other two circuits are side by side on this pole.  And this is a typical configuration for very large wind farms, where they take up a lot of pole space, based on the circuits that they require.

In this particular case, I identified this as an LDC, and Hydro One on this side of the pole, on the right-hand side of the pole.  And what ends up happening is you can see that the generator would have 20 feet of space, and the LDC would have 10 and 10 here.  And the reason this -- this overall space is 20 feet, even though we're parallel, is because we both need a neutral in this location, so you would go right down to the neutral location

MR. CLARK:  Thank you.  I think we should give some names to some exhibits, because I forgot where we left off.  Was it KT2?  Three?

Then this generator 20-foot, LDC 10-foot, HONI 10-foot drawing, is KT4.
EXHIBIT NO. KT4:  DRAWING SHOWING CONFIGURATION OF 20 FEET FOR GENERATOR, 10 FEET FOR LDC, AND 10 FEET FOR HONI.

MR. CLARK:  Now --


MR. ENGELBERG:  Excuse me.  Would this perhaps be a good time for the morning break since we started at 9:00, or is it too early?

MR. CLARK:  I'm fine with that.  Is that fine with everybody?

I may only be another 10, 15 minutes.  I don't know if anybody else had anything else.  You do?  Okay.  Maybe we should take a break, then.

--- Recess taken at 10:27 a.m.

--- On resuming at 10:41 a.m.

MR. CLARK:  Maybe we can get started again?

I did have one more question.  I thought I was done, but there is just one more.  And then Mr. Matthews said he'd like to -- he had submitted his questions, and they're not all answered on costs, that he would like to complete the record with his questions.  And I think Mr. Harper had a question.  And then we'll move on to another area.  Is that all right?  Okay.

My question was simply, if there were contributions that you would ask from a generator, how would they be treated for rate-making purposes on the distribution side?  Would you treat them as a normal contribution to your distribution system and design rates accordingly for distribution rates?

MR. BOLDT:  Yes.

MR. CLARK:  Thank you.  Mr. Matthews?

MR. MATTHEWS:  Is that better on the microphone side?

THE REPORTER:  Yes, it is, thank you.

MR. MATTHEWS:  Maybe we can just follow up while we're on that topic of capital contribution.  It's my understanding that Hydro One would require a generator to pay for any reconfiguration or rebuild requirements to attach to a pole if there was not sufficient space to accommodate the generator; is that correct?

MR. BOLDT:  Correct.

MR. MATTHEWS:  So in the case where an 80-foot pole was required and there was a 50-foot pole in place, the cost of that -- additional cost of that 80-foot pole would be assigned to the generator?

MR. BOLDT:  The DCF -- and the DCF that's used is not the DCF for new connections as well.  I just want to clarify that, that it isn't.  What it is, is it takes a look at status quo, meaning if it was a 50-foot pole that was there, it takes a look at the age of the pole and the net present value of that pole at the end-of-life, versus what the cost of the new pole and all the costs to get that pole in the ground, and all the labour to, you know, transfer our existing assets as well.

MR. MATTHEWS:  So there is an assessment made for the remaining economic -- the value of the remaining economic life of the existing pole, and that's deducted off the cost of the new pole; is that correct?

MR. BOLDT:  Correct, yes.

MR. MATTHEWS:  And then the fees that you would apply to the generator for using that new pole would be considered in the DCF as well?

MR. BOLDT:  Yes.  What the DCF does is it takes the revenue over the 20-year term and it takes it into account in the DCF.

MR. MATTHEWS:  Right.  So you would have the load revenue there and you would have the generator revenue on that new pole.

MR. BOLDT:  Load revenue?  Oh, you mean the -- like, our distribution customers.

MR. MATTHEWS:  Yes.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And so you would come up -- there would be -- what I'm getting at is that the generator pays for the heighth increase either through the capital contribution or through the fee.

MR. BOLDT:  They pay -- they pay a fee.  They're not paying 100 percent of that fee.  Incremental cost.

MR. MATTHEWS:  Right.  If the fee does not cover the incremental cost of the pole extension, if I can call it that, then there's a capital contribution required.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And who pays that?

MR. BOLDT:  There is a capital contribution by them.

MR. MATTHEWS:  By the generator.

MR. BOLDT:  By the generator, yes.

MR. MATTHEWS:  Right.  So the generator pays for that higher pole, either through the fee or through the capital contribution; is that correct?

MR. BOLDT:  They pay for the higher pole --


MR. MATTHEWS:  Right.

MR. BOLDT:  -- through a capital contribution.  And then they pay joint-use fees for future maintenance.

MR. MATTHEWS:  Right.  Right.  And that's where you get the economies of scale that we've talked about.  I think the concern was, if I'm expressing it correctly, from Board Staff was that, while you're reflecting the savings on the maintenance for higher poles, either the higher cost, capital cost of those poles, which we found was quite substantive, was not being reflected.  But the point I'm trying to clarify on the record is that that higher cost is put to the generator under your proposal, either through the capital contribution or through the fee; is that correct?

MR. BOLDT:  Through the -- the value of the new project, and with the net present value of the existing asset today, reduced from that, that there is a contribution by the generator --


MR. MATTHEWS:  All right.

MR. BOLDT:  -- on that, to make those changes.

MR. MATTHEWS:  Right.  And the fact that there's an allocation given for the value, the remaining life value, of the existing pole, that helps to reduce that capital contribution from the generator.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Right.

MR. BOLDT:  Our approach was that the pool or the ratepayers would be held harmless.

MR. MATTHEWS:  Right.  Okay.

One of the questions I had was in my question 2(b).  And one of the costs there was -- the questions there was dealing with the actual costs.  In the proposal that you have before the Board, you plan to inflate the rates by CPPI every year, and then I think every five years reassess based on actual cost; is that correct?

MR. BOLDT:  Correct.

MR. MATTHEWS:  And when you do that, will all of these rates change or only that base rate, the 28.61?

MR. BOLDT:  The actual costs will determine the base rate.

MR. MATTHEWS:  So you'll still use the same sort of extrapolation for the higher poles?  You won't use actual costs for the higher poles?

MR. BOLDT:  No.

MR. MATTHEWS:  Okay.  In the upcoming negotiations with the EDA, I think you mentioned that you have a five-year term agreement with them now?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Sharing agreement?  And that's coming due in a year.  Will they be renegotiated at actual costs?

MR. BOLDT:  Yes.

MR. MATTHEWS:  So the costs that they pay will more or less equal the costs that generators are paying for attachment, for similar type attachment.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  If you'll bear with me here, I'm just going to quickly go through these.  And I don't want to duplicate anything that Board Staff is about to do for negotiations.

Now, when Hydro referred to the number of -- on average the number of poles you have per kilometre and said that because of the transmission conductors for some generation connections you had to put in more poles per kilometre, I think to handle a higher -- the heavier conductor and the greater sag in the line; is that correct?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Now, when you do that, and you were to apply that to an existing line, would you put in -- just put in extra poles in the spans, or how would you do that for an existing line?

MR. BOLDT:  Typically on an existing line, where we have -- which would be a corner in the line, and we would have easements, and also, we would go on the centre line, and you would start the design in that -- your corners, you would leave them where they are, and you would typically go in the centre line and add more pole space above.  So that -- and then again you have less tree-trimming as well.

So the answer is, yes, we would -- you take the total distance, you calculate what your average span has to be, based on your framing standards and your sags, and then what you do is you would design in that centre line.

MR. MATTHEWS:  And by that, if I can put it in layman's terms, you would take out the existing poles and rebuild with a shorter span.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  And when you do that, there would be the same type of capital contribution you talked about earlier, where there would be some value put on the existing poles' life, remaining life?

MR. BOLDT:  Correct.

MR. MATTHEWS:  And that would be deducted -- and then anything that was in addition to that would be paid by the generator?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Including anything for higher poles?

MR. BOLDT:  Correct.

MR. MATTHEWS:  And how many -- just on average, to get a sense of the size of your -- the heighth of your pole inventory, if I can call it that, do you have many 80-foot poles?

MR. BOLDT:  We do have 80-foot poles.  I lot of them are in around, like, an urban centre, where there's multiple circuits, potentially, but they're not -- they're -- above 80 are very rare.

MR. MATTHEWS:  They're not common.

MR. BOLDT:  One of the -- one of the submissions that we made in our interrogatory answers was the percentage that we felt was based on pole heights.  Ask that was taken from the field based on their knowledge as to what's in the field.

MR. MATTHEWS:  So if there were requirements from generators for these extra-high poles, the likelihood is that you would have to rebuild the line and do the same type of calculation we talked about for the...

MR. BOLDT:  Correct.  Every time each project that's -- that is brought forward to us, we are calculating a DCF for that to see what their contribution will be.

MR. MATTHEWS:  Okay.

MR. BOLDT:  Each job is independent

MR. MATTHEWS:  Okay.  Thank you.  You mentioned that where there are no lines in place, the likelihood would be that the generator would build the line.  And then, I mean, you would look at with your planning group whether or not there's load requirements in the area to determine if Hydro One should build.

Now, if the generator builds the line and then subsequent to that, you find you have to serve load customers in that area, would you -- would Hydro One agree to pay the same fee schedule to the generator as they're proposing here?

MR. BOLDT:  Yes, we have had that discussion with generators.  I've had it.

MR. MATTHEWS:  Right.

MR. BOLDT:  And typically, they understand that if we were to come out later and we needed that space, then we would probably pole it ourselves and they would become our tenant.

From the conversation that we've had over the last three to five years with generators, is they would just as soon not own poles.

In fact, in most situations now where there are large TX generations, the guys that have come through, the companies that I've already negotiated with, they know on their next project that they already want to look at establishing joint use.

MR. MATTHEWS:  But in the case where that doesn't occur and they do build their own line, and then subsequent to that, there's a load customer wanting attachment, and you need to share space on that line, would Hydro One agree to pay the same fees that they're proposing here?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Okay.  Good.  Is that the same sort of arrangement you had with the LDCs?  You pay -- do you pay them --


MR. BOLDT:  Yes.

MR. MATTHEWS:  -- 28.61 when --


MR. BOLDT:  Yes.

MR. MATTHEWS:  -- you attach to their poles?  Okay.  Thank you.

The next question deals with negotiated rates, which I think Mr. Clark is going to ask some questions about, so I'll hold that.

MR. BOLDT:  Can I offer something?  Just -- there was a presentation I'd like to show, maybe to help clarify transmission versus distribution and expansion.  If I can show everybody on the screen, could I take that time?

MR. MATTHEWS:  Sure.  Fine with me.

MR. BOLDT:  Okay.  This is a simplified version of the system.  And one of the -- you can see that in black, what we didn't do here was establish where a distribution generator would go, but the black is typically our distribution poles, and with our distribution system today feeding the load customer, as you can see in the path coming here down into the load.

On -- if we're extending or expanding the existing distribution system for a DX-connected generator, but we were going to expand the system, and that being the Hydro One system will be expanded, the wires and the poles will be owned by Hydro One, that's shown in red, where now we go down and where the distribution generator would connect to this system, at what I call the gatepost, or at the place where they rise on to the system.

The transmission-connected generator in the blue, this is where they're producing in numerous and vast areas.  And what they do is they will own all the wire from the bottom of the turbine up through their transformer, to rise on to the distribution poles that are in blue here, which we would replace, and they would own all these wires back to their connection point on the transmission system.

So HONI would only own the structure, and they're accountable to own and maintain all of their asset and partake all their protection for their rights, i.e., like if they had to have corners, they secure their own easements and everything at their cost.

Now, the only other thing that we could adhere is that for a distribution-connected generator, and it may be something that we could add, is that those generators would sit in around here.  And what would happen is they would rise on to these poles, and they would own their circuits on these poles, and then connect back on to this.

Specifically, joint use, not expansion, where they're just using a Hydro One structure to gather their electrons from multiple locations to their connection point.

MS. DJURDJEVIC:  Can we make this diagram Exhibit KT5?
EXHIBIT NO. KT5:  DIAGRAM ENTITLED:  "JOINT USE OF THE DISTRIBUTION SYSTEM.

MR. MATTHEWS:  I had a question about that.  It's Mr. Boldt, is it?

MR. BOLDT:  Yes, correct.

MR. MATTHEWS:  Mr. Boldt, I had a question on that.  I don't really understand the difference between the two scenarios you laid out there.

The one where you have existing poles, are the dotted lines in blue, I think, extensions of those -- replacements of those poles?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  And the same separation between circuits is required here?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Right.  Right.  Okay.

MR. CLARK:  May I ask a couple of questions?

MR. MATTHEWS:  Sure.  Go ahead, Mr. Clark.
Continued Questions by Mr. Clark:


MR. CLARK:  Just to understand this, the blue line, transmission-connected wind farm, you're just simply transmitting across your line, and at the left-end pole that might lift up onto the transmission line.  None of it comes on to your distribution lines for distribution?

MR. BOLDT:  Correct.

MR. CLARK:  And the red line, distribution-connected generation, should probably have an arrow pointing left, because what it does is it comes up and along and down into your system.  It never gets up on to the transmission system?

MR. BOLDT:  Correct.

MR. CLARK:  Okay.  Thank you.

MR. MATTHEWS:  So is that everything, Christie?

MR. CLARK:  Oh, yes, sorry.
Continued Questions by Mr. Matthews:


MR. MATTHEWS:  In question 6, I asked a number of questions about -- which I think you've answered many of them -- with respect to what your standard pole height is and where you build 50-foot poles.  And just to clarify my understanding of what your answers were, you normally build 40-, 45-foot poles where you don't have joint use expectations?

MR. BOLDT:  Correct.  That would be if it was a single circuit or a single phase, yes.

MR. MATTHEWS:  Right.  And where you expect to have sharing with LDCs, you build 50-foot poles?

MR. BOLDT:  The assumption is never made in an LDC.  A lot of the locations are already established in the province.  And what it was is if you have what we call a boundary road, meaning the geographical area, they would be on one said and we're on the other.  Like, our service customers, our load customers.

In the past, what's happened is whoever went there first would build the line, and it would be built on a 40- or 45-foot pole.  And then the old way we did business was with load transfers, and -- if that was the preference, to load transfer.

Today what would happen is if there were load transfers and you went to correct that, what you would do is the LDC that didn't have a circuit there comes to the one that does, being the pole owner.  And they then apply to establish joint use.  And in that, the 50-foot pole is our normal pole, based on what they're attaching and the configuration of their attachments.

MR. MATTHEWS:  Right.  And so that's how you moved away from these transfer loads?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Yes.  And in the case where you were to build a new line on a boundary situation, you would build 50-foot poles if you were building the line, and if they were building the line, they would build 50-foot poles; is that my understanding?

MR. BOLDT:  Only if there was joint use to be established.  They would contact us and/or we would contact them and discuss it, but in a situation where, if they don't have any customers and/or willing to build it, then we would build a 40-foot line or a 45-foot pole line.

MR. MATTHEWS:  Right.  So where there's an expectation, based on discussions with their planning people and your planning people, you would build 50-foot poles if you were building that line, if there's an expectation of sharing?

MR. BOLDT:  Yes, if they are require it or we require it.

MR. MATTHEWS:  Okay.  And those -- and the -- when you do that, the expectation is that that 10 feet of additional space would be reserved for the LDC?

MR. BOLDT:  In that situation, yes, if the discussion was that we were going establish joint use.

MR. MATTHEWS:  Right.  And that's where you have these reciprocity arrangements with the LDCs?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Okay.  And I think you answered this before, but I'll ask it again.

Where there's development of renewable energy, and you're aware of -- your planning people are aware of that, and there's an expectation of joint use with generators, they would consider doing the same there?

MR. BOLDT:  We would only do that if there was an application, or we knew of one in the vicinity.

MR. MATTHEWS:  Is there not an obligation for Hydro One to build its system in such a way that it facilitates connection of renewables?

MR. BOLDT:  The issue is until there is a contract, we wouldn't know what size of pole.  And they may -- we could build a 50-foot pole line, but they may need a 75- or an 80-foot pole line, depending on what they're looking to connect.

MR. MATTHEWS:  But I thought your initial answer was that unless there's a contract you don't build anything more than 40.

MR. BOLDT:  Correct.

MR. MATTHEWS:  The rates you have with the telecoms, are they inflated by inflation?

MR. BOLDT:  No, you have to come to back and apply to the OEB to have the rate increased.

MR. MATTHEWS:  There's no cost adjustments there either?

MR. BOLDT:  Not at this point.

MR. MATTHEWS:  Right.  And the only reason you have them for the LDCs is the ten-year agreements with -- the Board has just approved the flat rate.

MR. BOLDT:  Correct.

MR. MATTHEWS:  At 28.61.

MR. BOLDT:  Correct.

MR. MATTHEWS:  There was a bit of confusion, at least I had some confusion, with respect to some answers to questions regarding the frequency of high poles.  One question said that these multiple circuits were very rare.  And so I wondered, would there ever be a situation where you would have a generator requesting an 80-foot pole for a single circuit?

MR. BOLDT:  You could have that, depending on terrain.  If you were to put a generator possibly at the top of a hill, and you had to bring your circuit back because of a large gully or something, you can get into massive-sized poles.  It's strictly clearances, though.

MR. MATTHEWS:  Oh, sure, yeah, for an unusual span over a river or something like that.

MR. BOLDT:  Correct.

MR. MATTHEWS:  But in general, just for flat line, flat ground distribution poles, that wouldn't be the case?  That type of separation is a bit extreme, isn't it?

MR. BOLDT:  Yes.

MR. MATTHEWS:  Okay.

MR. BOLDT:  The only thing I will comment on here is that some of the generators have proposed to have the ability to reserve space.  So when they -- because they're planning separate parts of a farm.  So at the time that we're changing the poles, they will reserve 15 to 20 feet for their next circuits.  And we do entertain that.

MR. MATTHEWS:  Right.  Okay.

Now, you mentioned some -- in your evidence -- I don't know if it was you, Mr. Boldt -- in Hydro One's evidence that the need for -- or the costs for above 80 feet would have to be examined on a case-by-case basis.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And yet you're applying for rates, flat rates, above 80 feet.

MR. BOLDT:  The decision wasn't necessarily on rates above an 80-foot.  It was an operational decision, mainly because we have distribution customers on these poles, and if there are wind storms, car accidents, tornadoes, whatever it might be, we have to put these poles back in the ground, and/or we have to work on them.  And once you get above a certain size you need specialized equipment, which isn't really available in every location.

MR. MATTHEWS:  Okay.  So it's not necessarily the fees.  It's the other aspects, as you just --


MR. BOLDT:  Right.

MR. MATTHEWS:  -- described.  So...

This is in question 8 and (c).  To what degree is Hydro One able to accommodate multiple connections or even single connections of generators on their pole -- or their distribution system in general?  I mean, in other words, if your systems build at 40 to 45 feet as a standard, when you have a request for a generator to attach to that line, is it more or less the case that you need to reconfigure or rebuild that line?

MR. BOLDT:  Yeah.  The industry -- with these, the industry -- the business has changed, and you have to abide by CSA rulings, you know, engineered standards.

MR. MATTHEWS:  Sure.

MR. BOLDT:  Typically, again, when we're -- we're not to talk about this, but the expansion of the system, like, in the diagram that I've shown in the red, you're expanding it on 40- or 45-foot poles to connect them.

On the majority of joint use that we have on the transmission side of the business, the poles in -- that are in place today are just not big enough to be able to accommodate the circuits that they're requesting.

MR. MATTHEWS:  So when that occurs, the attachment requires an additional investment, that those costs are covered by the generator through the capital contribution, as we discussed before.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.  Thank you.  Question 10.  It's a bit off costs, but it's dealing with the allocation of pole space when there are what we call competing attachments.  How would that be handled?  Do you want a specific example, maybe, to help clarify what I'm asking?

If you had a 50-foot pole, so you had room for one additional distributor or electrical circuit, and you had two applicants, you had a generator and -- two generators, for instance, trying to get on a 50-foot pole, how would that be handled?

MR. BOLDT:  Well, typically, what's happening right now in rural Ontario, where a lot of these are, is that, like I stated earlier, is that there isn't a whole lot of extra space built into poles.

So when the first generator applies and they send in their application as to what they're attaching, that design is done to accommodate number 1.  If number 2 comes along a year or two later, they then -- they would apply to joint use.  But now we've got generator number 1 on there as well.  So it would have to be designed to a standard to accommodate all three.

In one of the examples that we have in the province, one of the generators has reserved space on poles, like I said, for future circuits, and that reservation of space, we negotiate what is a reasonable time for that space, because it's a Hydro One pole, and we agreed to a reservation of space.

In that particular case, if there's 20 feet of pole -- and what we have in our agreement is that if another generator comes along, we have those generators talk to each other to see if they can use, purchase, or do whatever on that space, because it is space that one generator has secured.

Typically, it's first come, first serve, and if they come together -- and that's one of the luxuries as the process that we have today.  We're being given notice and being asked about joint use at these (sic) application stage two to three years out.  We know -- the people in the business know the operations people.  And Hydro One doesn't want to have to build pole lines over and over again.  So if we know at the beginning that there's the potential of projects, we will work with them to establish this.

MR. MATTHEWS:  And that's where my question was focused, was, when you had two applications and there was insignificant -- insufficient, sorry, is the word I'm looking for -- space to accommodate both, who pays the capital contribution?  Do they share it?

MR. BOLDT:  If they both came at the same time?

MR. MATTHEWS:  Do they share it?

MR. BOLDT:  If I may, typically what's happening with wind turbines, which is a lot of what's being produced right now at this given point, that they -- the setbacks and where these turbines go, they're not building farms that are criss-crossing their connection points.  It's very rare that you're going to have, in my opinion, that you would have two generators on a pole.

Just from my experience as to where they're putting them, they want to limit, I would assume, their collection system.  So they are appearing in clumps, as opposed to -- like, one turbine might go on one or two farms -- or, sorry, two turbines might be allowed on 100 acres of land, maybe.

So they're not -- what they're doing is, I think, when they propose, and is that they're securing blocks of area.  They're finding people where they can put their turbines, and keeping it so that they're not overlapping.

If they both approached at the same time, though, the work -- and we've never had this -- the approach that I would take, and probably we would think about it, but -- is that the contribution for both, if their space was equal, then they would divide the capital contribution in half.

MR. MATTHEWS:  Okay.  And that's helpful, thank you.

And one of the concerns I had was, because I was misinterpreting what you were proposing.  I thought you were also, in addition to space-allocation rates, I thought you were also proposing heighth, so that if you attached at the 60-foot heighth you would pay the 60-foot rate versus the 50-foot rate.

But what I heard you say is that it doesn't really matter.  If you only need 10 feet, you're only going to pay 28.61?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Regardless of where that 10 feet is?

MR. BOLDT:  Correct.

MR. MATTHEWS:  So it doesn't matter which comes first.  If there's 20 feet available on the pole, they both pay, and if they both need 10 feet, they both pay 28.61?

MR. BOLDT:  Correct.

MR. MATTHEWS:  Is that correct?  Thank you.

Well, I think you've done a great job, Mr. Boldt, answering all my questions except for the ones on negotiation, so I'm through for now.

MR. HARPER:  Well, thanks.  And I was listening to the answers you were just giving and the ones you gave just before the break.  And I want to make sure I lock in my mind, so I apologize if there's a bit of repetition, but just sort of trying to put in mind my words.

I guess the application was initially about sharing space on existing poles, but to a large extent, from what I understand it, the number of circumstances for which you will just have an existing pole, a generator will come along and he'll want to attach to that pole, he'll pay 28.61, or some incremental number that is very, very, very small.

In most cases, there will have to be a rebuild of the pole done in order for the generator to use it; is that a fair statement?

MR. BOLDT:  Yes.  I do have an example of -- one example, if I can use it.

MR. HARPER:  Okay.  Good.

MR. BOLDT:  Just recently there was a distribution pole line that has space that Hydro One had built in for future use, and when the distribution generator came along, they checked with the distribution planning and they were allowed to use that space because we didn't require it.

MR. HARPER:  And in those cases, I guess I'm just trying to -- in those cases, so the vast majority of those cases will be ones that involve rebuild.  And in most cases, I understand the answer you've been giving is in most cases, the generator will be looking to make a contribution if the expected fees aren't sufficient to cover all of the incremental cost.

MR. BOLDT:  Correct.

MR. HARPER:  You know, and so to some extent, whatever decision we make here about fee level, if the fee ends up being a little bit higher than what some people might be expected, in most cases it would just end up being a lower capital contribution in the future.  And vice versa, if the fee was a little bit lower than one might expect, might think it should be, that would be offset to some extent by a higher capital contribution in virtually all cases, because the generators would be making both the contribution, as well as paying the fees.  And it's the balance of the two that he's making, paying you in total sort of thing?

MR. BOLDT:  Right.

MR. HARPER:  So I'm just trying to get a sense of how fine this number here has to be, given that fact that we have monies coming in from other areas to help cover it all off.  And so that covers the case where we're doing rebuilds.

I guess I was a bit curious in terms of why -- you say you take the net present value of the cost of the new pole -- of the rebuilt poles you're putting in, the 60-foot poles and 70-foot poles, and then subtract off the net present value of the existing cost of the existing facilities.

And I'm just curious.  I would assume they would be -- you know, you're ripping out the old poles and almost having to write those facilities off, aren't you?  I was wondering why there would be any credit given back for the existing facilities.

MR. BOLDT:  Again, I'm not a financial expert.  The net present value that we have today is that when the poles are being replaced --


MR. HARPER:  Right.

MR. BOLDT:  -- what we do is we take a look at a value of what we would give to do pole replacement of status quo.  So like for like.

MR. HARPER:  Okay.

MR. BOLDT:  And then what we do is we compare the cost of what the job is today.

MR. HARPER:  But that would be like for like at the point in time where the pole would actually need to be replaced, if that was five years out or 15 years out, depending on the age of the existing poles?

MR. BOLDT:  Correct.

MR. HARPER:  Okay.  Fine.  And then basically for the whole analysis, I think you mentioned, you do a 20-year net present value discounted cash flow?

MR. BOLDT:  Correct.

MR. HARPER:  So that if the pole was actually more than 20 years out, it wouldn't come into the equation at all, effectively?

MR. BOLDT:  Sorry, it's a 50-year, the age of the pole.  It's at the end-of-life.

MR. HARPER:  So it's a 50-year discount net present value cash flow, I guess, is what you're doing?

MR. BOLDT:  That's correct.

MR. HARPER:  Okay.  Fine.  Thank you.  I guess the other circumstance, which was touched on a little bit earlier on, is where you aren't doing a rebuild but you're, you know -- you have to go further afield than what you're existing system is.  And I guess typically you said that that's something you don't generally entertain unless there's load customers going to be in that area, as well, if that was my understanding.

MR. BOLDT:  Correct.

MR. HARPER:  And that if there was a load customer in the area, you know, I guess, normally what you would do is you would look at what would be the cost of serving that load customer, of building a line just to serve that load customer, and there would be a discounted cash flow that normally goes on for system expansions.  And then you would have to look at how much more to serve the generator and how much more contribution you would require, over and above that; is that a fair way of characterizing it?

MR. BOLDT:  Yeah, we haven't had this scenario yet.

MR. HARPER:  Okay.

MR. BOLDT:  We have had the situation where there was greenfield or green space.

MR. HARPER:  Right.

MR. BOLDT:  And even -- we looked at -- it's basically farmland, and there is a potential that somebody could come along.  If at the time there was a customer, where they basically came in at the same point, there would have to be an analysis done as to if it's an expansion of the system for that new connection, you would have to follow those rules.

MR. HARPER:  Right.

MR. BOLDT:  And then at the same time, you would have to take into account that we're going to build this line to accommodate the generators, because now we have a DX customer there.

MR. HARPER:  Okay.  You almost layer that on top?

MR. BOLDT:  You would have to layer it.  You would have to figure it out at that particular case.

MR. HARPER:  No, that's great.  I was just trying to put this in my mind.  Thank you very much.  That's all I wanted to clarify.

MR. MacINTOSH:  Dave MacIntosh, Energy Probe.

If you have two generators on your pole, one goes out of business, what's the implication for the generator that's left, cost-wise?

MR. BOLDT:  The cost-wise is that they would just pay their rates based on the space that they're taking up.

MR. MacINTOSH:  So the extra space that is left would just be not charged to anyone?  It would be absorbed by Hydro One?

MR. BOLDT:  Correct.  Hydro One would continue to own the pole.  There is the possibility that if that generator did go out of business, that Hydro One could purchase the wire and insulators, you know, in default of the agreement or whatever it might be.  So we would be able to utilize it.

And if I may, typically what's happening in the large TX generators today is that they have a huge amount of money being borrowed.

MR. MacINTOSH:  Yes.

MR. BOLDT:  And typically what's happening is when they go to establish joint use, one of the things that comes to us is that their lender is asking Hydro One to sign a consent, so that the agreements that the generator enters into with Hydro One, if there is default, that they have the right to step in and follow up and have someone run the farm, based on them, the borrower, if the borrower defaults.

And those are very common that we are signing today, because the lender does have a vested interest.

The other document that we have executed is we have a joint-use cost-recovery agreement for generation, and typically, what that does is it has guaranteed revenue over 20 years.

MR. MacINTOSH:  Yes.

MR. BOLDT:  And again, if they were to go bankrupt, there is always that risk.  I guess that would be, if I may, be no different than if someone went bankrupt that was a load customer from the DCF.  There is risk to that.

MR. MacINTOSH:  Thank you.

MR. CLARK:  I've been trying to go last to cover off things that haven't been covered by others.  Did you want to start in now and cover the remaining areas of the economics or the free market and so on?

MR. MATTHEWS:  Sure.

MR. CLARK:  Okay.

MR. MATTHEWS:  I had one question with multiple parts, of course, on negotiated settlements.

As one option presented to the Board for approval, Hydro One has suggested that you could use negotiated rates here since these rates are more or less competitive.  And if you were to proceed on that basis, I just -- one of the questions we had was:  How would the fees and attachment requirements be set?  Would they be standardized across the province or would Hydro One plan to negotiate separate agreements with individual generators?

MR. BOLDT:  What we're doing right now is we have templated agreements, and these rates are actually in our agreements.  And everyone is treated the same, based on the amount of power space that they are using.

MR. MATTHEWS:  So you would set a standard cost for a power space, the 28.61 that we have here.  You'd apply that to all of the generators universally across the province, and the same sort of rate would be applied to LDCs for the similar use; is that correct?

MR. BOLDT:  Correct.

MR. MATTHEWS:  And when those standard fees and conditions are changed, how would that be determined?

MR. BOLDT:  Changed, as in escalated?

MR. MATTHEWS:  Well, when you recalibrate every five years --


MR. BOLDT:  Correct.

MR. MATTHEWS:  -- or when you renegotiate, as you were going to do with the EDA, how would you establish a standard rate there?  The same way you did last time?  Or cost-based?

MR. BOLDT:  No, it would be the way we've shown in our calculation today.

MR. MATTHEWS:  So you'd use an update of the inputs, you would use the same methodology that you're proposing here, and that would be the rate you would propose to sign agreements with the EDA and with the LDCs.

MR. BOLDT:  Correct.

MR. MATTHEWS:  And the generators, I should say.

MR. BOLDT:  Yes.

MR. MATTHEWS:  Okay.  And the person you would negotiate with, the party you would negotiate with, would that be individual generators or would that be an association of generators?

MR. BOLDT:  The individual generators who we negotiate with, but in the agreement that we have the formulas are all the same.

MR. MATTHEWS:  Right.

MR. BOLDT:  There has not been a group of generators come forward and say, 'We'd like to negotiate a rate,' at this point.  It's --


MR. MATTHEWS:  But if there was -- if that was seen to be more efficient -- I think one of the concerns -- where these questions came from were out of a Board Staff's question regarding potential delays, and I think APPrO has a concern about delays as well.

And if you're going to negotiate separately, that would seem to take more time than having this.  But I think if you're talking about using a standard fee the way you're approaching it with everyone using the same fee, that doesn't -- that's really academic then.

What recourse would a generator have if they didn't agree to the standard rate or they didn't like the terms?  I think this would happen more with respect to the requirements on the capital contribution that went to the fee if you're using a standard fee, but what recourse would a generator have if there was any disagreement with Hydro One?

MR. BOLDT:  Well, like I stated earlier, we're now coming, as far as the delays go, answering that part of the question, is that we haven't delayed.  We are looking to establish joint use.

Mainly, there's a lot of issues, but one of it is safety.  With all the poles -- or all the wires organized on one pole, there's -- it's easier to maintain.  We have townships, 450, I believe, in the province, that I've been in discussions with and communicating with to let them know, because some of them don't want twin pole lines.

And we have also an interest in the sense that our new connection rates can increase.  If we can't build the line and satisfy their connection dates, then what happens is they're going to build their own line, increasing our costs.

Does that answer your question?

MR. MATTHEWS:  How would it increase your costs?  You mean increasing their costs?

MR. BOLDT:  No, what happens is -- and we have this example today -- we're on one side of the road, and they've built a pole line on the opposite side of the road.  And what we end up with is new connections, distribution connections, on their side.  And the increases are, we have to get across, and the easiest thing to do is utilize their pole.

The issue that we have is that we want to be the pole owner so that we can connect, get that pole back in the ground if it's broken in a car accident, wind storm, where these wind farms are running and maintaining it with contractors.

So our fear is that if we don't own that structure -- we certainly want to -- then there's going to be delays to our DX customers, which we don't want.

There's also transfer costs.  They can set a cost for that pole.  You've got to search the title on the pole.  Like I said, there's liens on most of their asset because of lenders.  And all that is going to drag out the time and also potentially increase the cost.

MR. MATTHEWS:  So to get back to the recourse question, is there -- what would be the recourse for a generator that didn't agree with -- couldn't negotiate an agreement with Hydro One?  Would they come back to the Board then, or...?

MR. BOLDT:  Right now, like, there's escalation.  They could go within our company if they thought they weren't being -- and as well, it's my -- I'm assuming that they could come to the Board.

MR. MATTHEWS:  Okay.  I have just one other question.  It's on the twin pole lines.  If we get into situations where you have very high poles required for a generation connection, and the capital costs are over ten times the cost of a normal pole, wouldn't the economics drive a generator to build a separate line, rather than share?  The economics of sharing wouldn't be there.

MR. BOLDT:  Correct.

MR. MATTHEWS:  Okay.

MR. BOLDT:  And our cost, their capital contribution, is shown to them early, really early in the stage, once we know about it, if they're looking to establish.  And they have -- the market will bear whether they decide to establish joint use or not.

MR. MATTHEWS:  Okay.  And in the case where it's not economic, you -- Hydro One believes that they have the ability to build their own line.

MR. BOLDT:  Yes.  One of the questions was asked as to when or -- their business case, whether we're involved.  I believe that's one of the questions that was asked.

MR. MATTHEWS:  Mm-hmm.

MR. BOLDT:  We at this particular point aren't.  But they know that they have to get their wires back to their connection point.  So my assumption is that they know what a stand-alone line is going cost them to do that.

MR. MATTHEWS:  Okay.  Those are all my questions.  Thank you very much.

MR. BOLDT:  Okay.

MR. CLARK:  Anyone else?  Okay.
Continued Questions by Mr. Clark:


MR. CLARK:  Just staying on that point about the generator, knowing they have to come to you, I don't want to mischaracterize what you say -- what you said, but they don't start with you.  That's correct?  They start with their project, and somewhere along the process that they're developing on their project, they come to you.

And I'm trying to get a feel for that, how late in the day is that, where you just might be a show-stopper to them? Do they come to you before they get a contract offer from the IESO -- or, I mean -- who was it, the IESO or the OPA?  The OPA --


MR. CLARK:  Yes.

MR. BOLDT:  Typically what's happened in the past, and I'm talking a couple years, and this is where --because it's all new business -- they were coming to us with respect to their connection point.  And they were at one point walking into our operation centres, saying, 'We don't want to build our own pole line.  We want to establish joint use.'  And it was really late in the game, very late in the game.

And over the last couple of years we've made a commitment to meet their connection dates to catch up what's going on.  Today, at the point that the IESO
sends -- there's a form, I think it's a 1706, I believe, for TX connections.  That's the form that we've had changed to identify if they're looking to establish joint use, because the generators know what this is.

So they're identifying at the time it comes into our company -- my department is privy to that.  We review them.  And at that point we establish where they are, typically, and we send it to our operations people to establish whether it operationally makes sense for Hydro One and/or do they want to establish joint use and let them know what it is.

So I can't speak for the generators, but they -- my opinion is that they know what the cost is of a stand-alone line, and they're working that into their business case.  But now, at the front end, years in advance now, it's working quite well.  From their connection date, we know into 2013 the ones that have contracts right now, and we're entering into the agreement.  We're actually able to do, at this point, our capital contribution, get them our cost recovery agreements, and enter into the conversation at that point.

MR. CLARK:  Do they -- so it sounds to me like they are bringing you into the process early on in their planning?

MR. BOLDT:  Correct.

MR. CLARK:  And through this 1706 form, or whatever it is, do you get back to them?  At least through the operations centre, do you get back to them?  Or do you send them a letter?

MR. BOLDT:  No, what's happening is my department -- based on their application, they're sending detailed GIS data, and we're actually taking that GIS data, determining where it is in the province.  We know where they're connecting.  And it's being sent to the local operations people, to review if there is distribution lines there, to get back to them.  In their application, they have the technicals, like, they have the company, but also their technical respective.  So that early on, we're asking them:  Are you looking to establish joint use?

We took the approach that -- we being in joint use -- that if we weren't notified early and/or told them about it, they're coming in the door and then we're really in trouble.  There's examples of hundreds of poles that were being changed in a quick timeline, but it really does put a lot of pressure on our company for planning and staffing and all those sorts of things.

So we're taken that proactive approach.

MR. CLARK:  I'm sorry, I'm not familiar with the acronym GIS.

MR. BOLDT:  Guidance intelligence system.  It's GPS, I guess is... just their coordinates as to where they're generating.

MR. CLARK:  Okay.

MR. BOLDT:  And where their connection point is.

MR. CLARK:  Okay.  So there's an issue of topography?

MR. BOLDT:  Correct.

MR. CLARK:  Okay.  So that's GPS?

MR. BOLDT:  Yeah, sorry.

MR. CLARK:  Do you tend to see the same faces now?  Are they mostly the same developers, and they're experienced at this now?

MR. BOLDT:  Correct.

MR. CLARK:  Okay.  Thanks.

MR. BOLDT:  Primarily on the TX side.  The distribution side, the smaller jobs, there's more of those with different players.

MR. CLARK:  Okay.  You are planning to use the formula that was developed back in the Canadian Television Association application in 2003, I think it was.  And you were going to use that as your guide for negotiated rates; is that correct?

MR. BOLDT:  As our starting point, yes.

MR. CLARK:  As your starting point?

MR. BOLDT:  For a FIT, yes.

MR. CLARK:  And everybody's going to see the same rate, because you'll be using the same costs, the same rate of return, et cetera?

MR. BOLDT:  Correct.

MR. CLARK:  And in the contracts, will you be planning to update those costs every year -- every five years, I mean, with them?  Or are you going to stay with just the one -- the rate that's struck in the first year will remain for the 20-year contract?  You're planning to do it every five years, are you?

MR. BOLDT:  Correct.  It's escalated, and the reason we put the escalation in is that on year 5, with the LDCs, the agreement only has a five-year term.

MR. CLARK:  And that escalator is the CPI?

MR. BOLDT:  Correct, that was what we used with the LDC agreement today.

MR. CLARK:  Which CPI would you be using?

MR. BOLDT:  All items.  It's the Ontario...

MR. CLARK:  Ontario --


MR. BOLDT:  All items, yes.

MR. CLARK:  CPI, all items.  And why would you favour that over the GDP/IPI, which is more industrial-oriented, than all items, which includes inflation due to households, inflation due to wages, and so on?

MR. BOLDT:  The formula that we approached with this was typically the formula that was approved in our LDC agreement that was negotiated with the EDA, that you're aware of.

The escalator, there was a little comparison.  I believe that it's very close.  There's like a 0.10 percent difference over a 20-year period.  I believe it's just what we chose, based on past history in the agreements.

MR. CLARK:  So you don't have any strong reasons to abandon the Board's position of using the GDP/IPI?

MR. BOLDT:  No.

MR. CLARK:  Okay.  Thank you.  Let me see if there's any more.

Oh.  By inflating the joint-use rate every -- and then at year 5 rebasing, is Hydro One -- would Hydro One consider resetting its standard service charges, because this is in your list of standard service charges, or would a new application five years down road be assessed economically, based on the existing rate we have now, while the generators that signed a contract will see their rates go up?  Did I say that clear enough?

Okay.  Today I am a generator and I have signed an agreement for 27.61.  And five years from now, 2015, you intend to inflate that based on new costs.

However, in 2015, there was a new generator, would you still be offering me the 28.61?  Or would you be proposing in your distribution application to update those specific service charges?

MR. BOLDT:  It would be in the new application at the appropriate rate.  So it wouldn't be 28.61.

MR. CLARK:  It would be what you would be -- so it would be what you would be inflating in the base -- or raising -- I shouldn't use the word "inflating" -- raising the base rate to -- for generators in 2015, that would be in the distribution list of specific service charges?

MR. BOLDT:  Correct.

MR. CLARK:  Okay.

MR. BOLDT:  The example would be that if this year, the base rate was 28.61, but then we increased it by CPI next year, when the templated agreements in 2011 get updated to that new rate, the new base rate, so the new generator next year would pay the same rate as the generator that started this year.

MR. CLARK:  So that would be in your distribution rates application you would propose that?

MR. BOLDT:  Yes.

MR. CLARK:  Thank you.

MR. MATTHEWS:  Could I just ask a clarification on that, Christie?

MR. CLARK:  Yes.

MR. MATTHEWS:  It was my understanding that the base rate, the 28.61, has not been inflated, and that's the only rate that the OEB has approved in distribution rates; is that correct?

MR. BOLDT:  That's correct.

MR. MATTHEWS:  Thank you.

MR. CLARK:  Do you see the need for publishing guidelines on how you would be setting your rates?  I know if there's a Decision of the Board, it would be in the Board's decision, but as a budding generator in 2012, I want know what the game plan is.  Would you have guidelines for me to look at so I know what the game plan is?

MR. BOLDT:  Well, one of the things that we felt that we've done by this application is -- is to set the guidelines, in showing the formula.  And it's certainly... we like to treat everybody the same.  And we would share how we develop that cost with them, using the formulas that we use today.

MR. CLARK:  And would that be in some sort of formal information sheet on a website, or would you just expect them to come and ask you that question?

MR. BOLDT:  I haven't thought about that, but I guess it could be, based on the hearing with the telecom and the methodology that was used there.  It's public -- it's public knowledge.  And I would think it would only be fair.

The other thing is that the generators are all talking.  They all know each one of other (sic).  And they know what the rates are and how this is working.

And also there are lenders.  We have multiple lenders representing multiple proponents or wind farms, so they know.

MR. CLARK:  Okay.  Thank you.

MR. BOLDT:  Okay.  You're welcome.

MR. CLARK:  And that's it for me.

MS. DJURDJEVIC:  I guess if there's no other questions, did Hydro One have anything further to add by way of --


MR. MATTHEWS:  Can I just ask one question on --


MS. DJURDJEVIC:  Oh, sorry, Mr. Matthews.

MR. MATTHEWS:  My apologies.

The telecom rate is not being escalated, and how's that going to be treated in the future?

MR. BOLDT:  Well, we review our embedded costs and plug it into the formula yearly.  And at some point my assumption is that we would have to review it and bring it to the Board to have that rate increased and approved.

MR. MATTHEWS:  But it's not automatically adjusted.

MR. BOLDT:  No.

MR. MATTHEWS:  Right.  And what about for street-light attachment?  The same for that as well?

MR. BOLDT:  There is no escalation on street lights, no.

MR. MATTHEWS:  Okay.  Thank you.  Those are all my questions.  And I mean that now.

MS. DJURDJEVIC:  All right.  I guess we're adjourned then.  I believe you're looking at me.

MR. ENGELBERG:  I believe Ms. Sabouba has something that she would like to add.

MS. DJURDJEVIC:  All right.

MR. ENGELBERG:  And after she does that, I'd like to go up and talk for a second to Mr. Vance and Mr. Boldt to ask them if they have anything else --


MS. DJURDJEVIC:  All right.

MR. ENGELBERG:  -- before we adjourn.

MS. DJURDJEVIC:  Okay.  Ms. Sabouba?

MS. SABOUBA:  Thank you.  I wanted to address why this connection impact assessment cost for capacity allocation-exempt projects are so much less than for the large, mid-sized, and small projects.  This was one of the questions that we were asked, but I don't think we had a chance to discuss it here today.

The capacity allocation-exempt projects require much less work, primarily because the code allows us to treat them as though they are at the top of the queue at any feeder-in station when they -- regardless of when they apply.

So as a result, technically, there's much less analysis required for these projects.  For example, it would be extremely unlikely that any of these projects, since they're always at the top of the queue, would ever have feeder distance limitation issues.

It doesn't matter if there's a much larger project which has applied before them.  Even though that much larger project may incur heavier technical connection requirements, those technical requirements do not apply to the capacity allocation-exempt project, because in terms of capacity allocation they would always come ahead of the larger project.

So an example here is that if a larger project had to have conductor upgrades, even though the capacity allocation-exempt project applies later, because they have to be considered at the top of that queue, they are not -- they don't share in that need for the conductor upgrades because of their size.

There's always lower thermal requirements, again, because the size of the project is so much smaller.  They will contribute much less to short-circuit contributions.  And again, that generally just means that there's much lighter technical connection requirements.  They normally don't have transfer trip up to the TS, although they might have it to the DS.

So I just wanted to give some examples and reasoning why capacity allocation-exempt CIAs require much less effort and, therefore, they cost much less.

Thank you.

MS. DJURDJEVIC:  Mr. Engelberg, did you want a few minutes, and we'll go off the record, and then we'll come back?

MR. ENGELBERG:  Yes, thanks.  Just a minute.

MS. DJURDJEVIC:  Okay.

--- Off-the-record discussion.

MR. ENGELBERG:  Thank you, Ms. Djurdjevic.  There's nothing else that Hydro wants to add, but I would like to ask before we adjourn what the Board sees as being the next steps in this proceeding, particularly in light of the fact that Hydro One was asking whether these charges are even within the Board's purview.  So we'd like to know where this is going from here.

MR. CLARK:  Well, the procedural order stated that the next step would be argument-in-chief, which would come in Monday, October the 25th, with Board Staff submitting their submission on Friday, October 29, and the intervenors on Monday, November 1, and a reply from Hydro One on Monday, November 8.

I guess the question is, does that still seem reasonable?  It's the Board order.  I know there's a lot going on out there with other hearings.

MR. ENGELBERG:  Yes, I'll see you tomorrow.

I think that one-week time frame is fine with us.  Will the Board itself be taking any position on -- prior to Hydro One's submissions on whether these charges are within the Board's purview?

MS. DJURDJEVIC:  Mr. Engelberg, we really can't opine at this point whether the, you know, Board Staff is of the view that it is within its purview.  I think we will brief the panel, and if there is any issue or discussion about that, if there's some need for submissions on any kind of threshold issue, a further procedural order to that effect will follow.

MR. ENGELBERG:  That is what I was getting at, Ms. Djurdjevic, whether there might be a threshold issue.

MR. CLARK:  My understanding with the panel, when this application came in, is that we would hear all the evidence at once, and so part of the argument-in-chief and the submissions will include positions on the hurdle question as to whether they should be regulated or not regulated.

MR. ENGELBERG:  Thank you very much.

MR. MATTHEWS:  Just on that point, it's my understanding that the rates have been approved by the Board, including the rates that were negotiated with the LDCs, and that they're part of the service charges that are made in the rate order.  So I would think that they would continue on that basis unless there was a reason to change that.

MR. CLARK:  Good argument.

MS. DJURDJEVIC:  Right.  I'd like to thank everybody for attending this morning, and we'll see you again -- oh, I've just been cut off by Mr. Clark.  Thank you very much.

--- Whereupon the conference concluded at 11:53 a.m.
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